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401. What is marked as X in hole basic system?
Bl IR7% Rved & X & wu 7 w1 fafeed 87
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A. Tolerance TTeR B. Maximum dia 31faH Srm
C. Lower deviation ®H fdge= D. Upper deviation 31feh fa<ret
Answer-A
402. Whatis the expression of 30H7/g6?
30H7/g6 @t sifvaafad @ 27
A. Fit fthe B. Limits fetfie
C. Deviation faaret= D. Tolerance SleRd
Answer-A

403. What is the lower limit of size in dimension of 2t ©
Wem T ¥ 3MAR B el W = 82

A. 19.988 B. 20.028
C. 20.007 D. 19.979
Answer-C

404. What is the type of fit, if the maximum size hole is larger than minimum size of shaft?
flhe &1 UBR T B, Al 3MMABTH MBR BT Bl LATH ATHR & AMHS ¥ gl 87
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A. Shrinkage fit Ri®oT fihe B. Transition fit gioie fihe
C. Clearance fit diINg fihe D. Interference fit SeXbNd fthe
Answer-C

405. What is the name of the part marked X in dial test indicator?

ST TRIETOT Wb ¥ X & WU ¥ fofted 9RT &7 = = 27
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A. Stem H B. Pointer a®
C. Back plugéfﬁ Tl T D. Bezel cIampélGl?'I FAg
Answer-D

406. What is the angle of holding the scrapers for soft metal?
TRA G & (Y BHUH DI TS BT BT T BT &2

A.30° B. 60°
C. 40° D. 20°
Answer-D

407. What isthe marked as X?
X & wy ¥ fafeq @ 87
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A. Minimum limit =9 forffe B. Maximum limit aifereda ferfie
C. Lower deviation fFaax fa=ret= D. Upper deviation S=idr fa=rer
Answer-D

408. What is the upper deviation of the component size #%aws ?

+0LI0E

20,3 005 Flcch JTBR b IToaN [deel T 87

A. 0.005 B. 0.008
C. 19.995 D. 20.008
Answer-B
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409. What is the lower limit of size, if dimension is stated as in a drawing 2015 ?

+0.25
STHR A e W @7 2, Af o B ST § 2204s HET W A2
A.24.85 mm B. 24.75 mm
C. 24.000 mm D. 25.021 mm
Answer-A
410. What isthe marked as X?
X & wy ¥ fafed & 87



411.

412.

413.

414.

A. Limit fafae B. Tolerance zone cfeiR¥ &=
C. Lower deviation fraar fa=re D. Upper deviation SR fa=ret=
Answer-B

Which part indicates the reading of dial test indicates?
SR X I AT fhw B | U axd 8°

A. Stem A B. Anvil t=fae
C. Pointer =i D. Plunger wisk
Answer-C

What is the name of operation?

9 SN BT A9 T 27

A. Filing ®T8feiT B. Drilling ffer

C. Scraping@fﬁ"T D. Chiselingﬁl\_rl'f%FT
Answer-C

Which scraper is used to scrape the centre portion of large flat surface?
IS JUIC |AE & A N Bl Yo & foly fbd Gl &1 ST fhar Sar 87
A. Flat scraper ure graml (Fele ThR)

B. Hook scraper g @v=rl (b whuR)

C. Triangle scraper st @ral (ST BhUR)

D. Bull-nose scraper §a At g1 (1 Al BhoR)

Answer-B

What is the name of the instrument?

A. Screw pitch gauge =g o= w1

B. Outside micrometer a1l AshMIc (MSCHTSS ATSHHICT)
C. Screw thread micrometer &5, 2is AgHRICR

D. Screw thread caliper gauge &%, g€ delltR IS

Answer-C



415.
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417.
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421.

422.

Which instrument is used to magnify small variation in sizes by means of pointer on a
graduated dia 2US[ued SRe IR @iger @ §RT ATHR H BICT 98l DI HIGIS & oIy B |
JUHT &7

A. Dial test indicator saT exc sfedex

B. Inside micrometer s==ass ATgHIHICR

C. Did vernier caliper sa afiRR dfeir

D. Vernier micrometer afiRrR Argshiie

Answer-A

What is the number of fundamental deviation in the BIS system ?

SucTel BISUUTGl # SMRYd @ T &R 87

A.25 B. 20
C.15 D. 26
Answer-A

How many fundamental tolerance grades are available?
fhae MR o= U€ IuTT &7

A. 18 grade B. 25 grade
C. 15grade D. 12 grade
Answer-A

Which precision instrument is used for comparing and determining the variation in the
sizes of the component? «r T & rmmar 7 ... DI S B R JAT B & oY B 4

IREGAT SUSRYT BT JART BT &7

A. Micrometer ArgshHeR

B. Comparators #xNed

C. Did test indicator S <xc sfrsdex

D. Vernier bevel protector afRR daa Uicacs
Answer-C

What mechanism is used in the lever type dial test indicator?
TR a7 & S X sf~eder H hiF Wl FB-IoH BH AT o7

A. Screw and nut &5 3R e B. Rack and pinion ¥& aiR fuf=s
C. Lever and scroll cex 8ik &pie D. Worm and worm whedl & 3ik o &1
Answer-C

Which comparator is used in mass production?
offeh IUTG ¥ DI | HFINC UYdd BIAT 57

A. Opticdl aifteswd B. Pneumatic =gife®
C. Electronics setagifta D. Mechanical #afHaa
Answer-B

Which gauge used to check internal thread of components

AR BT TR gReA BT A9 & oIy B9 5T &7 YA g 27

A Thread ring gauge g R B. Taper ring gauge e R A
C. Thread plug gauge IS &I ol D. caliper gauge PbferaR T
Answer-C

What is the extreme permissible sizes within which the operator is expected to make
the component? &9 |1 =R¥ Wiiad Y 2 [ & IaR JMINER | AT T4 B Tehied] 41
ST 72

A. BasiC Size 3Ry 3 B. Actual size arifde amAM

C. Nominal sizeifi=at ama D, Limits of size smAm &1 g




423.

424,
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428.

Answer-D

What is the size of the component by actual measurement after it is manufactured?
I & 916 AT & IRAID AT DI FIT HaT Sl &7

A. Limit size feifée amHmM

B. Actual size ar<ifds g

C. Maximum size #fdas () A

D. Minimum size f&f=## (=) A

Answer-B

A dimensionis stated as 25 £ 0.02 mm in adrawing. What is the tolerance?
IR H AT (Srya=wr) &I 25 + 0.02mm ®81 ST & | STeR=d a1 811?

A. +0.02 mm B.—-0.02 mm

C. 0.04 mm D. 25.00 mm

Answer-C

How to identify high spots while scraping?

TR (FHIUT) & HHIA 3T I9X g W Bl DY Ggdril?

A. Prussian blue ul?re = B. White chalk \wa =

C. Copper sulphate &R Aewe D. Cellulose lacquer Jeiar oids
Answer-A

What isthe smaller of the two limits of size?
BN BT ST IR H W BI9 AT BIeT 87

A. Actud Size a=afd® AR

B. Maximum limit of size &R &1 sfferwan AT
C. Minimum limit of size 3R @& =g7aq HH
D. Limit of size smeR &1 AFm

Answer-C

What is the name of the lathe specification of marked as x?

X & wu 7 fafed wrig fafadsr &1 9/ @& 87

A. Length of the bed IS Bl FI‘@I'IS; B. centre height of lathe WNT B Hex gIgC
C. Length between centre g & T Bl FI'@I'IS;

D. Diameter of work (Swing) T a1 =am (&)

Answer-C

What is the name of the part marked ‘X’ in the lathe carriage?
ERTE DR 7 X 3ifdhd WFT &7 99 F7 87



429.

430.

431.

432.

A. Tool post e qIee B. Top slide T/ wIgs
C. Cross slide YT I5S D. saddle lock &< @i

Answer-B

Wheat is the merit of three jaw chuck in lathe machine? @=1e w29 & §IF &S arel @
@1 9Re w7 8?7

A. Work can be set with ease @ e & Rer fdar S @&l g
B. Run out cannot be corrected 3 31T &1 GERT 8T ST Fehell

C. Only round and hexagonal components can be held @aat et 3R TS gedT &I
gl ST Abdl &

D. work cannot be easily stabilized
B ST A ReR T8 fhar S |dhar 8

Answer-A
What is the name of the part marked x? X Afegd M BT A1H T 87

A. Body dTS! B. Back plate 5% wic
C. External jaw d SIRSES D. crown wheel 137 &1t
Answer-D

What isthe de-merit of four jaw chuck?
IR STGST dTet adb BT S ARE T 87

A. Jaws are reversible S9s Iefet g B ©

B. Irregular shape job can be hold si=afad smeR @ Sifa udhs dadT 8

C. Heavy cuts can be given ¥R & <1 I |l @

D. Small and Finished work will be damaged ®te s ftfer sifer st T grm

Answer-D

Which type of rake angle make slope from the front towards back of the tool?
fhd IR & Y& BT, A & AT A WY Pl AR FA 10 27

A. End rake angle T Y& @11 B. Side rake angle \1gs Y& ®Iv1
C. Negative rake angle =wifea & ®1v1 D. Positive rake angle difsifeas Y& @it

Answer-D




433.

434.

435.

436.

437.

438.

439.

440.

What will be the effect, if the carriage is not locked while facing?
AT BRIAT B FHT DR DI Alp el fbar T ar w1 y1a geir?

A. Correct face 981 w9 B. Convex face 3ad &a
C. Concave face s@de w4 D. Pip leavesin the center #z % fir s 3ar 2

Answer-B
What is the name of the operation carried out in turning to remove burr and sharpness

from the edge of component?ecs & IR ¥ TSTSEe AR dRIUA T ge™ & foly fbhy 1y
SITONeT &1 A1 a7 272

A. Grooving gfdwT B. Chamfering =s R
C. Step turning =< e+t D. Plane turning =i ef= i1
Answer-B

Find out the spindle speed for turning dia 40 mm cast iron rod, if the cutting speed is
15 m/min? 40 3 & Toral ARl (S I T B & oIy RUYvSS BT A ST HBY, AT Hre-
$I T 15 Ae/fAee 872

A. 1193 rpm B. 100.3 rpm
C. 2193 rpm D. 109. 4 rpm
Answer-A

What is the name of the operation? g IR BT 19 T 8
. Vi

|
D |

B

A\. Square shoulder ThTIX oS B. Filleted shoulder ftheoics Mcex
C. Bevelled shoulder SdcTs IMosy D. undercut shoulder 3t Mo
Answer-D

What type of cutting tool used in mass production?

g YAM W IR ¥ (5 JHR & BT T & STANT fhar Sar 872

A. Solid toolssifere g1 B. Brazed tools soie <o

C. Throw away typetools et 2/ egu Tt D. Inserted bits with holder sz forew faor et

Answer-C

Which gauge is used to compare the profile of thread? IS &I PIEJEI! BT HERIR B D %IQ B o
BT SYATT foar ST 27

A\. Plug gauge WIT | B. Feeler gauge‘ﬁﬂ'\’ |
C. Radius gauge ST ST D. Screw pitch gauge Fﬂj\ﬁ?ﬁﬁf

Answer-D
Which is the vertical distance from crest to the root?

B A B b b SRR W HF AT 87

A. Lead s B. Flank wei®
C. Pitch fug D. Depth &=
Answer-D

Calculate the blank size for external threading M16 x 2.0 |
el gAY (I AFSTM L6 X 2.0 6 oIy cfich ATgST Bl 0T By
A.14.0 mm B. 15.8 mm
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446,

C.16.0 mm D. 18.0 mm

Answer-B

Which type of thread is used in screw jack?
Bh D H [hd UBR & IS BT SUANT [HAT SIar 87

A. Veethread 4 21 B. Acme thread va+ g
C. Knuckle thread 5@ o1 D. Square thread warr g
Answer-D

What is the name of the part marked X ? X fafed amT &1 9| w7 87

i

i gi‘—ﬂqaul”]i%{__ "

A. Bed ES] B. Tail stockéa idh
C. Feed shaft BIS IMUc D. Lead screw?ﬁ@'@_\
Answer-C

What is the maximum swiveling angle of the compound rest in the lathe machine?
ERIE A H HATSS NI BT JAfABTH FH1G HIvf 7 272

A. 90° B. 180°
C. 220° D. 360°
Answer-D

Which part is mainly supporting the lengthy job in lathe machine? IF AT YT & ™y J WRIE 7 H
AT SIf9 BT |qUE BT 27

A. Face plate B9 wIC B. steady rest &S W%
C. Dog carrier SMT BRI D. Dead centre 8 &
Answer-B

What is the name of part marked as x of three jaw chuck?
A9 TS I 7 X & ®Y H RfFed 91T &AM R’ 50

-
A. Body @t B. Back plate 9% wic

C. Externa jaw sre¥i siger D. Interna jaw siidRe Sieer
Answer-D

What is the de-merit of 3 jaw chuck?
3 ST9ST 9% BT Q1Y T 87

A. Work can be set with ease @™ s & eiRa faar ST |6 ©
B. Internal and external jaws are available sriaRa® iR e Sae SUae &
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448.

449.

450.

C. A wide range of cylindrical and hexagonal work can be held semrr st 2Famiae site
EREISRCREIES I KiCi R

D. Accuracy decreases Ieiadr &H & Sl &

Answer-D

Which tool materials are manufactured by powder metallurgy technique? UT3exX Healoll Caild gRT BIe

A T Al @1 A far S 27

A. Carbides PRATSS B. High speed steel 31'5; e e

C. High carbon steel 3% HTa ¥ D. Medium carbon steel HEIH HIET et

Answer-A

Which angle of the tool prevents from getting jammed in the groove and causes
breakage? o &1 &I AT BT Yd H HFH F AHhdT 2 AR T BT BRI I9dT 27

A. Siderake angle wgs Y& @11 B. Side rdlief angle \rge Refie @ior

C. Side clearance angle 91ss @eiri® @01 D. Lip angle foa @

Answer-B

What is the defect caused if the tool is not set to the correct centre height while
facing?afd T &1 BRI B AT FEl dg DI s UR JT el (BAT ST 2 A& T QY 57
A. Convex face 3ad &a B. Concave face sraaa &a

C. Pip left inthe centre g # g B <aT @

D. Rough surface on the face %a = gt wdg

Answer-C

What is the unit of cutting speed in turning? PHIc BT I DY ?{aﬂ—&; RIT B?
A. mm/sec B. m/sec

C. m/min D. mm/min

Answer-C
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